
  

 

 

 
 

 

 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

QUESTION 1 

Which is used to show the motion? 

  

• Two 

• Too 

• To 

 

QUESTION 2 

John and Jony are going _____ party.  

 

• To 

• Too 

• Two 

 

QUESTION 3 

I have _____ mangoes. 

  

• To  

• Two 

• Too 

 

 

QUESTION 4  

Edward is _____ tired.  

 

• Too 

• To 

• Two 

 

QUESTION 5 

Which is the correct sentence? 

  

• Amy is going to the party.  

• Amy is going too the party.  

• Amy is going two the party 
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